

RFQ COPY

TYPE NAME/ADDRESS HERE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for REQ NUMBER

GSD126403

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 804-558-2596

Ť

Madison Avenue Gardeners LLC 227 Clem St., Huntington. WV. 25785

DATE PRIN	TEO	TEF	MS OF SAL	Ε	SHIP VIA		F.O.B.	FREIGHT TERMS
09/02/								
BID OPENING DATE:	0	9/27/	2011	rettante de com		BID OF	PENING TIME ()1;30PM
LINE	QUAN	IITY	UOP	CAT. NO	ITEM NUMBER		UNIT PRICE	AMOUNT
0001		1	EA		988-36		\$ 126, 331.50	\$ 126,331.50
	PEN EN	D GRO	NDS (COMMOI	DITIES CONTRA	ACT T	4 100) 301.	
			14					-
			I	REQUE	T FOR QUOTA	LION		
					(RFQ)	200.		
	1			OPE	END CONTRAC	CT		
·	HE WES	T VTRO	TMTA	STATE	PURCHASING	DTVIG	ייים מסק אסד!	
į ž	GENCY,	THE V	VEST V	VIRGIN	IA DIVISION	OF GE	ENERAL SERVICES	3.
-	s soli	CITING	BIDS	FOR	AN OPEN END	CONTR	RACT TO	
					PLANTS FOR			
	FROUNDS	SECT	ON OF	THE	WEST VIRGIN	IA DIV	ISION OF	
	PENEKAL	SERV.	CES E	EK II	E ATTACHED S	SPECIF	TCATIONS.	
1 7	ECHNIC	AL QUE	STION	IS COI	CERNING THIS	SOLI	CITATION MUST	
I I	E SUBM	ITTED	IN WE	NITI	TO KRISTA I	FERREL	L IN THE	
V	EST VI	RGINIA	STAT	E PUF	CHASING DIV	ISION	VIA MAIL	
A 7	T THE	ADDRES	S SHO	DWN IN	THE BODY OF EMAIL AT KE	THIS	RFQ, VIA FAX	DESERVED.
, v	V GOV	VENI	ORS A	RE AS	KED TO INCL	IDE JH	IE RFQ NUMBER	RECEIVED
	N ALL	INQUI	IES.	IF E	MAIL, PLEASE	E INCL	UDE RFO	
1	UMBER (HT MC	SUBC	ECT I	INE.			2011 SEP 27 PM 1: 11
_	אביא דו דאזו אביא דו דאזו	מסק ק	7 T T	ID CITATA	CAI OUBCETO			TOTA OCT CATA
	T THE	CLOSE	OF BI	STNES	CAL QUESTION S (5:00 PM E	S TR	09/14/2011	WY PURCHASING
			01 00	, D LIVEL	/C (3.00 IN 1	3017.		
Į Z	NY TECI	HNICAI	QUES	TIONS	RECEIVED WI	LL BE	ANSWERED BY	DIVISION
Į P	ORMAL A	ADDENI	UM TO	BE 1	SSUED BY THE	E PURC	HASING DIVISION	ON
F	TER TI	TE DEF	DLTNE	HAS	LAPSED.			
l N	O CONTA	ACT BE	TWEEN	THE	VENDOR AND T	HE AG	ENCV TS	
SIGNATURE				SEE RE	/ERSE SIDE FOR TERMS			
Blai	is Li				TELEP!	D4)37	6-1121	9/26/11
TITLE		FE	9ø-	Ø762	-594	*	ADDRESS CHANG	GES TO BE NOTED ABOVE
1111		AIDIAIO	YO DEO	141000	- 11114- 1115 1-5	DE00		



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for REQNUMBER

Ţ

GSD126403

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

RFQ COPY TYPE NAME/ADDRESS HERE Madison Ave Gardeners LLC 227 Clem St. Huntington; 25705

DATE PRINTED	TÉÑ	MS OF SALE	SHIP VIA	P.O.B.	FREIGHTTERMS
09/02/2011		(2)			
BID OPENING DATE:	09/27/2	011	BID OP	ENING TIME 01	30PM
LINE	QUANTITY	UOP CAT.	ITEM NUMBER	UNIT PRICE	AMOUNT
	TOO 1370	MICHAEL MITTER	TANDERE AND THERE AND	NADNO OD OUD	
			EXPRESS WRITTEN COL		
101 (0.00)			MAY RESULT IN REC YER NAMED ABOVE IS		
			L INQUIRIES AFTER		
	RELEASE			1111D IVE X 1111D	
1	- 1				
			* .		
EXHI	BIT 10		- 2		
			REQUISITION NO		
ADDE	NDUM ACKI	IOWLEDGEME	1		
1 4 55	DEBY ACK	OMI PINCE DI	ECEIPT OF THE FOIL	ONING CUECKED	
			ADE THE NECESSARY I		
			OR SPECIFICATION,		
	(0.00.00.00.)		on bildericanillon,	ZIO,	
ADDE	NDUM NO.	S:			
			*		
No.	l	•1			
No.	2	•			
NO	3				
10.	,				
NO.	1				
NO.	5		1		
			THE TO CONFIRM THE		
THE .	ADDENDUM (S) MAY BE	CAUSE FOR REJECTION	ON OF BIDS.	
1	OD MITCH	T EAD I TO	TID COUNTY PARTY TO THE PARTY T	7 7 17 17 17 N W	
AEND.	OK MOST O	TEAKITY ON	ERSTAND THAT ANY V	VEKRAL	
			TWEEN VENDOR'S REI		
			IS NOT BINDING.	ONLY THE	
	5		VERSE SIDE FOR TERMS AND CONDIT		
SIGNATURE P	/		TELEPHONE (384)37	DATE	901711
TITLE	[FE	IN O /	1.50	T	3/26/11
	10001000	70-07	62574	ADDRESS CHANGES	TO BE NOTED ABOVE



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for BEQNUMBER

Ť

GSD126403

F.O.B. FREIGHT TERMS

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

RFQ COPY TYPE NAME/ADDRESS HERE

Madison Avenue Gardeners, LLC 227 Chem St. Huntington 25705

DATE PRINTED TERMS OF SALE SHIP VIA

09/02/										
BID OPENING DAT		9/27/2	2011	AAA	ITEM NUI	BID (1	NING TIME		
LINE	QUAN	TITY	UOP	NO.	ITEM NUM	/BER		UNITPRICE		AMOUNT
	ORIGINA NOT EXC TIME" T	L CONT CEED TW CHE VEI UPON (TRACT VELVE VDOR N	THI (12) IAY TI	MONTHS. ERMINATE T	ABLE TINDURING	IE" THI ITR <i>I</i>	EW THE PERIOD SHA IS "REASONA ACT FOR ANY SING 30 DAY	BLE	*
	IN THIS	CONTE	RACT I	OCUMI		TERMS, C	ONI	ELSEWHERE DITIONS AND OF THE		я
	WRITTEN SUBMITI DAYS PF BE IN A ORIGINA	CONSI	THE ITHE ITHE ITHE ITHE ITHE ITHE ITHE I	THE IRECT EXPINATE OF THE PROPERTY OF THE PROP	SPENDING OR OF PUR RATION DAT THE TERMS	UNIT AN RCHASING TE. SUG AND COM	D 7 TI TH I	N THE MUTUA VENDOR, HIRTY (30) RENEWAL SHA FIONS OF TH TWO (2) ON	LL E	
	RIGHT T NOTICE SUPPLIE TO THE	TO CANO TO THI ED ARE SPECII	CEL THE VENIOF AL	IIS CO OOR II I INFI	NTRACT IN THE COMM ERIOR QUAI OF THE BII	MEDIATI MODITIES LITY OR O AND CO	ELY S AI DO DO	RESERVES THE UPON WRITT ND/OR SERVING NOT CONFOR RACT HEREIN	EN CES M	
	AUTHORI MARKET, ESTIMAT IMMEDIA	ZE A S WITHO CE, ITI ATE DEI	SPEND: OUT THEMS SH LIVERY	NG UI E FII ECIFI	IT TO PUR ING OF A ED ON THE MERGENCIA	RCHASE (REQUIS: IS CONTI ES DUE !	N ' L'TIC RAC'	ON OR COST		
	PORTATI OF WORK	ON OR	AN UI	ANTIO	CIPATED II	CREASE THE RI	IN EQU	THE VOLUME		
SIGNATURE	١			SEE HE	verse side for I	TO COLIONIC			DATE	0 . /
	ide Li	le:	EIN .			(304)	5/6			9/26/11
F. F. Robin		1"	SIX	-\$76	35821		- 1	ADDRESS CH	ANGES	TO BE NOTED ABOVE



State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for REGINUMBER

70

GSD126403

ADDRESS CORRESPONDENCE TO ATTENTION OF

KRISTA FERRELL 304-558-2596

RFQ COPY TYPE NAME/ADDRESS HERE

Madison Avenue Gardeners LLC Clem St. Huntington 25705

DATE PRINTED TER	MS OF SALE	SHIP VIA		F.O.B.	FREIGHT TERMS
09/02/2011					
BID OPENING DATE: 09/27/2			BID OPENI	NG TIME 01	:30PM
LINE QUANTITY	UOP CAT.	ITEM NUMBER	1	UNITPRICE	AMOUNT
FRICES, TERMS FOLITICAL SUB CLEARLY INDIC SHALL NOT PRE MANNER. REV. 3/88 FURCHASING CA CURRENTLY UTI IS ISSUED THR MUST ACCEPT T	, AND COND DIVISIONS ATE SUCH R JUDICE THE RD ACCEPTA LIZES A VI OUGH A BAN HE STATE C	OF THE STAT EFUSAL IN H AWARD OF T NCE: THE S SA PURCHASI K. THE SUC F WEST VIRG	TATE OF WICESSFUL VINIA VISA	NDOR MUST SUCH REFUSAL ACT IN ANY EST VIRGINIA ROGRAM WHICH ENDOR PURCHASING	
AGENCY AS A C	NOTI	CE	19	10	
PURCHASI BUILDING 2019 WAS	NG DIVISIO 15	REET, EAST			
THE BID SHOUL THE ENVELOPE SEALED BID		N M 650			т
BUYER:		STA FERRELL FERSE SIDE FOR TERM	S AND CONDITIONS		
SIGNATURE Blaise Li			PHONE 304)3)6~	1121 DATE	9/26/11
TITLE FE	1 9d- 076	1202			S TO BE NOTED ABOVE
WHEN RESPONDING	14-0/2	2014		CE ABOVE I ABEL	

PLANT	Container Size	Cost per Container	EstimatedQ uantity	Extended Price	Act. Container Size Bid
_					
Trees		Hallman			
Elms	5'-7' Ball and Burlap	\$144.00	10	\$1,440.00	5'-7' BB 2"
Pin Oaks	5'-7' Ball and Burlap	\$144.00	10	\$1,440.00	5'-7' BB 2"
Crabapple	5'-7' Ball and Burlap	\$171.20	10	\$1,712.00	5'-7' BB 2"
Cleveland Select Pears	5'-7' Ball and Burlap	\$144.00	10	\$1,440.00	5'-7' BB 2"
Maple Assorted	5'-7' Ball and Burlap	\$144.00	10	\$1,440.00	5'-7' BB 2"
Pink and White Dogwood	5'-7' Ball and Burlap	\$256.00	10	\$2,560.00	5'-7' BB 2"
Kousa Dogwood	5'-7' Ball and Burlap	\$184.00	10	\$1,840.00	5'-7' BB 2"
Red Bud	5'-7' Ball and Burlap	\$212.80	10	\$2,128.00	5'-7' BB 2"
Deciduous Shrubs					
Burning Bush	2.5 Gal3.75 Gal. Container	\$20.80	25	\$520.00	Trade #3
Barberry	2.5 Gal3.75 Gal. Container	\$20.00	25	\$500.00	Trade #3
Forsythia	2.5 Gal3.75 Gal. Container	\$22.40	25	\$560.00	Trade #3
Spirea	2.5 Gal3.75 Gal. Container	\$20.00	25	\$500.00	Trade #3
Lilac	2.5 Gal3.75 Gal. Container	\$20.00	25	\$500.00	Trade #3
Flowering Shrubs					
Hydrangea	2.5 Gal3.75 Gal. Container	\$24.80	25	\$620.00	Trade #3
Peony	2.5 Gal3.75 Gal. Container	\$16.80	25	\$420.00	Trade #3
Butterfly Bush	2.5 Gal3.75 Gal. Container	\$16.80	25	\$420.00	Trade #3
Viburnum	2.5 Gal3.75 Gal. Container	\$21.60	25	\$540.00	Trade #3
Crape Myrtle	2.5 Gal3.75 Gal. Container	\$25.36	25	\$634.00	Trade #3
Azalea	2.5 Gal3.75 Gal. Container	\$21.60	25	\$540.00	Trade #3
Roses	2.5 Gal3.75 Gal. Container	\$23.20	100	\$2,320.00	Trade #3
Rhododendron	2.5 Gal3.75 Gal. Container	\$21.60	25	\$540.00	Trade #3
Rhododendron	5 Gallon Container	\$35.20	25	\$880.00	Trade #3
Evergreen Shrubs		Selection of the select			
Yew	2.5 Gal3.75 Gal. Container	\$21.60	50	\$1,080.00	Trade #3
Spruce	2.5 Gal3.75 Gal. Container	\$21.60	50	\$1,080.00	Trade #3
Holly	2.5 Gal3.75 Gal. Container	\$20.80	75	\$1,560.00	Trade #3
Junipers	2.5 Gal3.75 Gal. Container	\$17.60	100	\$1,760.00	Trade #3
Boxwood	2.5 Gal3.75 Gal. Container	\$24.00	75	\$1,800.00	Trade #3
Holly	5 Gallon Container	\$22.40	50	\$1,120.00	Trade #5
Junipers	5 Gallon Container	\$20.80	50	\$1,040.00	Trade #5
Boxwood	5 Gallon Container	\$28.80	50	\$1,440.00	Trade #5

PLANT	Container Size	Cost per Container	EstimatedQ uantity	Extended Price	Act. Container Size Bid
Junipers	7 Gallon Container	\$59.20	50	\$2,960.00	7 Gallon 2"
Boxwood	7 Gallon Container	\$40.00	50	\$2,000.00	7 Gallon
Holly	7 Gallon Container	\$38.00	50	\$1,900.00	7 Gallon
Tropicals					
Hibiscus	2.5 Qts1 Gal. or 8"-9" pot	\$12.00	25	\$300.00	Trade #1
Mandevilla	2.5 Qts1 Gal. or 8"-9" pot	\$12.40	25	\$310.00	Trade #1
Boston Fern	2.5 Qts1 Gal. or 8"-9" pot	\$12.00	25	\$300.00	Trade #1
Perennials					
Perennial Grasses	1.5 Gal2 Gal. Container	\$9.68	100	\$968.00	Trade #2
Perennial Grasses	2.5 Qts1 Gal. or 8"-9" pot	\$7.20	100	\$720.00	Trade #1
Perennial Grasses	3 Gallon	\$13.20	100	\$1,320.00	Trade #3
Perennial Flowers	1.5 Gal2 Gal. Container	\$9.60	200	\$1,920.00	Trade #2
Perennial Flowers	2.5 Qts1 Gal. or 8"-9" pot	\$6.34	500	\$3,170.00	Trade #1
Perennial Flowers	3 Gallon	\$15.98	25	\$399.50	Trade #3
Ground Cover Assorted	4"-5" pot or 1-2 pint pot	\$2.50	100	\$250.00	4" Pot
Ground Cover Assorted	Flat of 50	\$20.00	100	\$2,000.00	Flat of 50
Annuals					
Hardy Mums	4"-5" pot or 1-2 pint pot	\$1.60	200	\$320.00	4" Pot
Hardy Mums	6-7" pot or 1.25-2.4 qt pot	\$2.50	200	\$500.00	6" Pot
Hardy Mums	2.5 Qts1 Gal. or 8"-9" pot	\$4.56	200	\$912.00	8" Pot
Pansies	4"-5" pot or 1-2 pint pot	\$2.40	8200	\$19,680.00	4" Pot
Pansies	6-7" pot or 1.25-2.4 qt pot	\$3.60	3900	\$14,040.00	Trade #1
Annual Flower	4"-5" pot or 1-2 pint pot	\$2.40	4000	\$9,600.00	4" Pot
Annual Flower	6-7" pot or 1.25-2.4 qt pot	\$3.60	1800	\$6,480.00	Trade #1
Annual Flower	2.5 Qts1 Gal. or 8"-9" pot	\$3.60	200	\$720.00	Trade #2
Annual Flower Flat	Flat of 18	\$13.60	500	\$6,800.00	18/Tray
Annual Flower Flat	Flat of 32	\$13.60	500	\$6,800.00	32/Tray
Accent Plant	4"-5" pot or 1-2 pint pot	\$3.99	1200	\$4,788.00	4" Pot
Accent Plant	6-7" pot or 1.25-2.4 qt pot	\$5.60	500	\$2,800.00	6" Pot
Delivery Fee for orders un	der \$500	\$200.00			
Total Bid				\$126,331.50	

Vendor Information

Company Name:	Madis	on Avenue Gardeners LLC
Company Address:	227 Clen	St., Huntington, WV, 25705
_		
-		
Contractor Contact Name:		Japheth Stump
Contractor Phone Number	:	(304)710-1143
_		(304)429-0001
Contractor Fax Number:		
Contractor Email Address:	bla	ise.liu@uhomewv.com
Please provide the following	g numbers below:	
Fax/email for Release Ord	er Receipt:	blaise.liu@uhomewv.com

State of West Virginia

VENDOR PREFERENCE CERTIFICATE

Certification and application* is hereby made for Preference in accordance with **West Virginia Code**, §5A-3-37. (Does not apply to construction contracts). **West Virginia Code**, §5A-3-37, provides an opportunity for qualifying vendors to request (at the time of bid) preference for their residency status. Such preference is an evaluation method only and will be applied only to the cost bid in accordance with the **West Virginia Code**. This certificate for application is to be used to request such preference. The Purchasing Division will make the determination of the Resident Vendor Preference, if applicable.

1. /	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is an individual resident vendor and has resided continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a partnership, association or corporation resident vendor and has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or 80% of the ownership interest of Bidder is held by another individual, partnership, association or corporation resident vendor who has maintained its headquarters or principal place of business continuously in West Virginia for four (4) years immediately preceding the date of this certification; or, Bidder is a nonresident vendor which has an affiliate or subsidiary which employs a minimum of one hundred state residents and which has maintained its headquarters or principal place of business within West Virginia continuously for the four (4) years immediately preceding the date of this certification; or,
<u>2.</u>	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a resident vendor who certifies that, during the life of the contract, on average at least 75% of the employees working on the project being bid are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
3.	Application is made for 2.5% resident vendor preference for the reason checked: Bidder is a nonresident vendor employing a minimum of one hundred state residents or is a nonresident vendor with an affiliate or subsidiary which maintains its headquarters or principal place of business within West Virginia employing a minimum of one hundred state residents who certifies that, during the life of the contract, on average at least 75% of the employees or Bidder's affiliate's or subsidiary's employees are residents of West Virginia who have resided in the state continuously for the two years immediately preceding submission of this bid; or,
4.	Application is made for 5% resident vendor preference for the reason checked: Bidder meets either the requirement of both subdivisions (1) and (2) or subdivision (1) and (3) as stated above; or,
5.	Application Is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is an individual resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard and has resided in West Virginia continuously for the four years immediately preceding the date on which the bid is submitted; or,
6.	Application is made for 3.5% resident vendor preference who is a veteran for the reason checked: Bidder is a resident vendor who is a veteran of the United States armed forces, the reserves or the National Guard, if, for purposes of producing or distributing the commodities or completing the project which is the subject of the vendor's bid and continuously over the entire term of the project, on average at least seventy-five percent of the vendor's employees are residents of West Virginia who have resided in the state continuously for the two immediately preceding years.
require against	understands if the Secretary of Revenue determines that a Bidder receiving preference has failed to continue to meet the ments for such preference, the Secretary may order the Director of Purchasing to: (a) reject the bid; or (b) assess a penalty such Bidder in an amount not to exceed 5% of the bid amount and that such penalty will be paid to the contracting agency acted from any unpaid balance on the contract or purchase order.
authoriz	mission of this certificate, Bidder agrees to disclose any reasonably requested information to the Purchasing Division and tes the Department of Revenue to disclose to the Director of Purchasing appropriate information verifying that Bidder has paid uired business taxes, provided that such information does not contain the amounts of taxes paid nor any other information d by the Tax Commissioner to be confidential.
and ac	penalty of law for false swearing (West Virginia Code, §61-5-3), Bidder hereby certifies that this certificate is true curate in all respects; and that if a contract is issued to Bidder and if anything contained within this certificate as during the term of the contract, Bidder will notify the Purchasing Division in writing immediately.
Bidder:	Madison Avenue Gardeners Signed: Blade Li
Date:_	P/26/11 Title:
*Check s	any combination of preference consideration(s) indicated above which you are entitled to receive